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l.(a) B E 4,55 &7& (1,2,3),1,1,H%3,3,20%0 8

&M 847 (10 %)
(b) A 2 B %5 & 3x3 &, |A|=2, |B]=-3, £ [4A’B|=?(5 %")
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4. (a)E ko C B —TiHAEMR » HEHW 2 AC=BC A A=B? (6 &)
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5. & PA)ETEA A ZFEA(powerset) » FH BT T 7| &K EB :
(@) A= { ¢,{¢}} » Bl {{s}}cd (2 %)
(b) A= { ¢.{¢}} » RI{{s}}c PA) (3 %)
(c) A= {a,{a}} > Al{{{a}}}e P(A) (2 %)
(d) A= {a,{a}} » Bl{a}c P(4) (3 %)

6. K ARMME + &~ bR — 5L =R . (2) o RABREHE
¥h S BPRAESVERRGLEEFR?(T 2)(0b) FE—ER
@ e R A KA 0 BBE - o LM K 60 8 7 (8 )

7. % A={a,b,c}  FHH £ FH w@iER A L&y —Thft4(binary relatlon)
5B FEBMWG?TERBBERE? (0 %)

R;={(a, a), (a, b), (b, b,), (b, ¢)}

Ry={(a, a), (a, b), (b, b,), (b, a), (c, ¢)}

R3={(a, ), (a, ), (a, b), (b, c,), (b, b), (b, 2), (¢, ©) }
Rs={(a, b), (b, c,), (a, ¢);

8. T TA—AMRPKEEAMZELR  FHETHEA - (15 )
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(b)fe] & A ¥ v} 4k K& (transient state) 7
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